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1. Introduction

This paper looks for the convolutionally coded capability of rel99/rel4 UE capability. We would like to get RAN1's opinion about this capability.

2. Convolutionally coded capability
Convolutionally code capability is specified as "Maximum sum of number of bits of all convolutionally coded transport blocks being received at an arbitrary time instant". This capability is defined at the L1-L2 interface i.e. the sum of over all transport blocks being received at an arbitrary time instant. 
Another parameter defines transport block capability. This is "Maximum total number of transport blocks received within TTIs that end within the same 10 ms interval". This capability does not distinguish convolutional code and turbo code. 

CRC can be attached to the end of the each transport block. The maximum size of CRC is 24 bit. The UE actual processing requirement for convolutional code can be represented in following:
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Let's see an example of 384kbps class. 

Convolutional capability = 640
TrBlk Capability = 32
So the actual convolutional capability is 640+32x24=1408.

In this setting, TrBlk size is 640/32=20 bit and CRC size is 24. So the CRC size is bigger than TrBlk size. 

The reason of this is the choice of transport block capability is carried out by mainly turbo capability (Maximum sum of number of bits of all turbo coded transport blocks being received at an arbitrary time instant) and transport block capability does not distinguish between convolutional code and turbo code. So the reasonable choice of transport block capability for turbo code is not proper choice for convolutional code.

3. Conclusion
We looked the requirement of convolutional capability in TS25.306. We would like to get RAN1's opinion about following.

1. Is this understanding correct and intended definition?

2. If this is correct, is UE required to process above setting?

3. If UE is not required to process above setting, how many bits shall be processed in UE?
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